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I'm just a poor boy I need no sym-pa-thy be-cause I'm
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In tempo
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does-n't real-ly mat - ter to me to me
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Verses 1/2 Bb Gm Cm
Ma -ma just killed a man put a gun a - gainst his head  pulledmy
too late my time as gone sends shi - vers down my spine bo -dy's
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trig - ger now he's dead Ma - ma life had  just be -gun but
a- ching all the time good -bye everybody I've got to go goi.“3 to
3 .
&8 T ESia=- S= = ‘
P | A I S
D) -~ —~ 1 2 H \ \ b
4
2 2
11 - 2 g 1 1 g
— = — — e ] e o~
) | pE—— Frr S ———
j - i o i i o ~— ‘ ‘
@ -
Cm’ ChM7(#5) Eb/BI’
now I've gone and thrown it all
leave you  all be - hind and face
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